= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND

1. EXTRALIGHT BRACKET
STAFFA FARETTO
SOPORTES DE FARO
SCHEINWERFERHALTER

EXTRALIGHT BRACKET

2. ALLEN SCREW M6X10
VITE A BRUGOLA M6X10

TORNILLO ALLEN M6X10
HF9003'21 INBUSSCHRAUBE M6X10

VIS ALLEN M6X10

WWW_BARRACUDAMOTO.COM

JAN

EXTRALIGHT NOT INCLUDED IN THE KIT Q




